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RATIONAL NUMBERS

Try These

1. Fill in the blanks in the following table. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LhL1MGEDiQpc


Watch Video Solution

2. Complete the following table 

Watch Video Solution

3. Complete the following table 

https://dl.doubtnut.com/l/_LhL1MGEDiQpc
https://dl.doubtnut.com/l/_173AzN6Za4hX
https://dl.doubtnut.com/l/_cB160kLSMDaY


Watch Video Solution

4. Find the using distributivity 

Watch Video Solution

{ × ( )} + { × }
7

5

−3

12

7

5

5

12

5. Find the using distributivity 

Watch Video Solution

{ × } + { × }
9

16

4

12

9

16

−3

9

https://dl.doubtnut.com/l/_cB160kLSMDaY
https://dl.doubtnut.com/l/_sbiyOBPXLZEo
https://dl.doubtnut.com/l/_qfF5PD5gp20Z
https://dl.doubtnut.com/l/_2ZngjwCfNS4z


6. Write the rational number for each point

labelled with a letter. 

Watch Video Solution

7. Write the rational number for each point

labelled with a letter. 

Watch Video Solution

https://dl.doubtnut.com/l/_2ZngjwCfNS4z
https://dl.doubtnut.com/l/_wCOsT20pCRNZ


Exercise 1 1

1. Using appropriate properties find : 

Watch Video Solution

× + − ×
2

3

3

5

5

2

3

5

1

6

2. Using appropriate properties find : 

 


 


× ( ) − × + ×
2

5

−3

7

1

6

3

2

1

14

2

5

= × ( ) + × − ×
2

5

−3

7

1

14

2

5

1

6

3

2

https://dl.doubtnut.com/l/_wCOsT20pCRNZ
https://dl.doubtnut.com/l/_jqrltBGxyC5e
https://dl.doubtnut.com/l/_tStRadWdSU4z


 


 


 


 


 


Watch Video Solution

= × ( + ) −
2

5

−3

7

1

14

1

4

= × ( ) −
2

5

−6 + 1

14

1

4

= × −
2

5

− 5

14

1

4

= −
−1

7

1

4
−4 − 7

28

=
−11

28

3. Write the additive inverse of each of the

following :

2/8

https://dl.doubtnut.com/l/_tStRadWdSU4z
https://dl.doubtnut.com/l/_oJ70slRcUagj


Watch Video Solution

4. Write the additive inverse of each of the

following :

-5/9

Watch Video Solution

5. Write the additive inverse of each of the

following . 

Watch Video Solution

−6

−5

https://dl.doubtnut.com/l/_oJ70slRcUagj
https://dl.doubtnut.com/l/_z2SMuX2g3nOR
https://dl.doubtnut.com/l/_mW2OWn3zvs9S


6. Write the additive inverse of each of the

following . 

Watch Video Solution

2

−9

7. Write the additive inverse of each of the

following :

19/-6

Watch Video Solution

https://dl.doubtnut.com/l/_mW2OWn3zvs9S
https://dl.doubtnut.com/l/_ZEtSsXEN0S62
https://dl.doubtnut.com/l/_moOWNk3xKfC2
https://dl.doubtnut.com/l/_BZK9ju5nnIm4


8. Verify that  for 

Watch Video Solution

−( − x) = x x =
11

5

9. Verify that -(-x) =x for . 

Watch Video Solution

x =
−13

17

10. Find the multiplicative inverse of the : 

Watch Video Solution

−13

https://dl.doubtnut.com/l/_BZK9ju5nnIm4
https://dl.doubtnut.com/l/_m3526fAw8052
https://dl.doubtnut.com/l/_jHa6Z5GQON3p


11. Find the multiplicative inverse of the : 

Watch Video Solution

−13

19

12. Find the multiplicative inverse of the : 

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_jHa6Z5GQON3p
https://dl.doubtnut.com/l/_1pbY7woQuwX1
https://dl.doubtnut.com/l/_MrOQh4sF8GNF


13. Find the multiplicative inverse of the : 

Watch Video Solution

×
−5

8

−3

7

14. Find the multiplicative inverse of the : 

Watch Video Solution

−1 ×
−2

5

https://dl.doubtnut.com/l/_IjajSiPrOVMw
https://dl.doubtnut.com/l/_llCEb3bGNoao


15. Find the multiplicative inverse of the : 

Watch Video Solution

−1

16. Name the property under multiplication

used in each of the following.

Watch Video Solution

× 1 = 1 × = −
−4

5

−4

5

4

5

https://dl.doubtnut.com/l/_EwmSs4EF15AQ
https://dl.doubtnut.com/l/_qcfXJxP4rA6o


17. Name the property under multiplication

used in each of the 

Watch Video Solution

× = ×
−13

17

−2

7

−2

7

−13

17

18. Name the property under multiplication

used in each of the following.

Watch Video Solution

⋅ = 1
−19

29

29

−19

https://dl.doubtnut.com/l/_6KY501SNYU4S
https://dl.doubtnut.com/l/_XFhIlTxkIKNX
https://dl.doubtnut.com/l/_9QpWQMwCWQgm


19. Tell what property allows you to compute

as 

Watch Video Solution

× (6 × )
1

3

4

3
( × 6) ×

1

3

4

3

20. Is  the multiplicative inverse of ?

Why or why not?

Watch Video Solution

8

9
−1

1

8

https://dl.doubtnut.com/l/_9QpWQMwCWQgm
https://dl.doubtnut.com/l/_yrYAD1YPC6Xq


21. Is 0.3 the multiplicative inverse of ? Why

or why not?

Watch Video Solution

3
1

3

22. The rational number that does not have a

reciprocal.

Watch Video Solution

https://dl.doubtnut.com/l/_m0C7nDSL7qEA
https://dl.doubtnut.com/l/_k1hjah2iPQWV


Exercise 1 1 Fill In The Blanks

23. The rational numbers that are equal to

their reciprocals.

Watch Video Solution

24. The rational number that is equal to its

negative.

Watch Video Solution

https://dl.doubtnut.com/l/_JipihyLIrK8V
https://dl.doubtnut.com/l/_ldW2dNOefjFb
https://dl.doubtnut.com/l/_yDo9CAqEByaG


1. Fill in the blanks : Zero has ________

reciprocal.

Watch Video Solution

2. Fill in the blanks : The numbers ________ and

________ are their own reciprocals

Watch Video Solution

https://dl.doubtnut.com/l/_yDo9CAqEByaG
https://dl.doubtnut.com/l/_YQsUiExC8KGm


3. Fill in the blanks : The reciprocal of – 5 is

________.

Watch Video Solution

4. Fill in the blanks : Reciprocal of , where

 is ________.

Watch Video Solution

1

x

x ≠ 0

https://dl.doubtnut.com/l/_87Cg9lPUwHSy
https://dl.doubtnut.com/l/_BBSDLAZxRudl


Exercise 1 2

5. Fill in the blanks : The product of two

rational numbers is always a _______.

Watch Video Solution

6. Fill in the blanks : The reciprocal of a

positive rational number is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_bF59lwCitd4a
https://dl.doubtnut.com/l/_3YxkishWPpiM
https://dl.doubtnut.com/l/_0zxwJZDc6IZA


1. Represent these numbers on the number

line. 

Watch Video Solution

7

4

2. Represent these numbers on the number

line. 

Watch Video Solution

−5

6

https://dl.doubtnut.com/l/_0zxwJZDc6IZA
https://dl.doubtnut.com/l/_CqH1ro9d7NmW


3. Represent , ,  on the number

line.

Watch Video Solution

−2

11

−5

11

−9

11

4. Write five rational numbers which are

smaller than 2.

Watch Video Solution

https://dl.doubtnut.com/l/_X9umn5BLQ9HG
https://dl.doubtnut.com/l/_20eQpvl3m8n3


5. Find ten rational numbers between 

and .

Watch Video Solution

−2

5
1

2

6. Find five rational numbers between  and 

Watch Video Solution

2

3
4

5

https://dl.doubtnut.com/l/_tUda4PRcqvgJ
https://dl.doubtnut.com/l/_triPj9eVQkXv


7. Find five rational numbers between  and

Watch Video Solution

−3

2
5

3

8. Find five rational numbers between  and 

Watch Video Solution

1

4
1

2

9. Write five rational numbers greater than -2.

https://dl.doubtnut.com/l/_HAAi1uNSEpVA
https://dl.doubtnut.com/l/_MsQffOrU8m5v
https://dl.doubtnut.com/l/_I5W0acjEUhwM


Additional Questions For Practice Objective Type

Questions

Watch Video Solution

10. Find ten rational numbers between  and 

Watch Video Solution

3

5
3

4

1. Fill in the blanks : 

Rational number ……. Is called the

https://dl.doubtnut.com/l/_I5W0acjEUhwM
https://dl.doubtnut.com/l/_vbd1OE2MLlt0
https://dl.doubtnut.com/l/_Lqqhm6sMX4rB


multiplicative identity .

Watch Video Solution

2. Fill in the blanks : 

Multiplicative inverse of a rational number is

its ………. .

Watch Video Solution

3. Fill in the blanks : 

Between two rational numbers there exist

https://dl.doubtnut.com/l/_Lqqhm6sMX4rB
https://dl.doubtnut.com/l/_zMYkcgcIr9sX
https://dl.doubtnut.com/l/_P2Jyqy0A4Vrg


………. Rational numbers.

Watch Video Solution

4. Fill in the blanks : 

The rational number  lies between ….. And

……. On the number line .

Watch Video Solution

1

2

5. Fill in the blanks : 

Product of rational number and its reciprocal

https://dl.doubtnut.com/l/_P2Jyqy0A4Vrg
https://dl.doubtnut.com/l/_IeQXqzy3mX3o
https://dl.doubtnut.com/l/_3PKlKFYtvQdR


is …. .

Watch Video Solution

6. Fill in the blanks : 

For a rational number to be positive

numerator and denominator must have ……… .

Watch Video Solution

7. Fill in the blanks : 

If x and y are two rational numbers then a

https://dl.doubtnut.com/l/_3PKlKFYtvQdR
https://dl.doubtnut.com/l/_IaKSXvUZo2qO
https://dl.doubtnut.com/l/_LIzNtnPXwVm0


rational number between them is ……….. .

Watch Video Solution

8.  for all rational number.

Watch Video Solution

−| − x| = − x

9. Every rational number is an integer.

Watch Video Solution

https://dl.doubtnut.com/l/_LIzNtnPXwVm0
https://dl.doubtnut.com/l/_tfqFpc6jcmbc
https://dl.doubtnut.com/l/_l5h5E2ih801P
https://dl.doubtnut.com/l/_at9q9W9n7Kbs


10. Rational number are closed under the

operation division.

Watch Video Solution

11. Multiplicative inverse of  is - 

Watch Video Solution

7

5

−5

7

12. Reciprocal of a rational number is called its

multiplicative inverse.

Watch Video Solution

https://dl.doubtnut.com/l/_at9q9W9n7Kbs
https://dl.doubtnut.com/l/_bQWpcaP7QnfS
https://dl.doubtnut.com/l/_XQZ3UFo7UFiH


13. All rational numbers can not be

represented on a number line.

Watch Video Solution

14.  lies to the right of zero on the

number line.

Watch Video Solution

−
1

3

https://dl.doubtnut.com/l/_XQZ3UFo7UFiH
https://dl.doubtnut.com/l/_yhKtLSI2Pom4
https://dl.doubtnut.com/l/_ps1a9rg7sYcz


15. Which of the following will be true if x = - 

and y = 

A. x 

B. x=y

C. x y

D. none of these

Answer:

Watch Video Solution

5

9
2

9

> y

<

https://dl.doubtnut.com/l/_J1wgnWgLVITg
https://dl.doubtnut.com/l/_OulQU3XQWF1x


16.  is a

A. the rational number

B.  rational number

C. neither negative nor positive rational

number

D. none of these

Answer:

Watch Video Solution

−9

−11

+ve

https://dl.doubtnut.com/l/_OulQU3XQWF1x


17. Multiplicative inverse of 0 is

A. 0

B. 1

C. Does not exist

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dkNLbcUOqfSP


18. If a=1 , b = 7 then multiplicative inverse of

ab is

A. 7

B. 

C. 1

D. none of these

Answer:

Watch Video Solution

1/7

https://dl.doubtnut.com/l/_WNhjjZgFsDyh
https://dl.doubtnut.com/l/_vj61dNm9RIIZ


19. Which of the rational number is less than

 


a. 


b. 


c. 


d. none

A. 

B. 

C. 

D. none of these

5

2
7

2
2

3
5

12

7

2

2

3

5

12

https://dl.doubtnut.com/l/_vj61dNm9RIIZ


Answer:

Watch Video Solution

20. The value of  is

A. 

B. 1

C. 

D. none of these

Answer:

− − +
2

5

−3

5

−1

2

−1

2

−1

1

10

https://dl.doubtnut.com/l/_vj61dNm9RIIZ
https://dl.doubtnut.com/l/_e7r1gY8JUzyu


Watch Video Solution

21. The value of  is

A. 0

B. 

C. Not Defined

D. none of these

Answer:

Watch Video Solution

−7

0

−7

https://dl.doubtnut.com/l/_e7r1gY8JUzyu
https://dl.doubtnut.com/l/_ST5F546Gb8JN


Additional Questions For Practice Short Answer

Type Questions

1. Find property under addition in each of the :

Watch Video Solution

+ 0 = 0 +
3

2

3

2

2. Find property under addition in each of the :

Watch Video Solution

− + = + ( )
5

4

2

3

2

3

−5

4

https://dl.doubtnut.com/l/_ST5F546Gb8JN
https://dl.doubtnut.com/l/_vWkNZStLbdjC
https://dl.doubtnut.com/l/_Z6GYNgG7K0ez


3. Find property under addition in each of the :

Watch Video Solution

+ ( + ) = ( + ) +
1

2

1

3

3

4

1

2

1

3

3

4

4. Find the sum of the additive inverse of 

and the negative of  .

Watch Video Solution

3

−2
5

4

https://dl.doubtnut.com/l/_Z6GYNgG7K0ez
https://dl.doubtnut.com/l/_GhCsXXXlfAMG
https://dl.doubtnut.com/l/_xwZIPFeSFWBa


5. Which positive number is its own reciprocal

?

Watch Video Solution

6. Which negative number is its own reciprocal

?

Watch Video Solution

7. Find the number whose reciprocal is 
−7

13

https://dl.doubtnut.com/l/_rf0OjSOpbviD
https://dl.doubtnut.com/l/_Cwd90d7B8BKZ
https://dl.doubtnut.com/l/_LgdcbmHsPytL


Watch Video Solution

8. Find the sum of additive inverse and

multiplicative inverse of 3 .

Watch Video Solution

9. Multiply  by its multiplicative inverse.

Watch Video Solution

−7

10

https://dl.doubtnut.com/l/_LgdcbmHsPytL
https://dl.doubtnut.com/l/_EUtA8JHbDNc5
https://dl.doubtnut.com/l/_etKO540p7KTp


Additional Questions For Practice Long Answer

Type Questions

10. The additive inverse of x is same as the

multiplicative inverse of  . Find the value of

x.

Watch Video Solution

7

11

1. Find the difference between the greatest

and least of the given rational numbers 

 ., , , ,
2

3

−5

2

7

6

−1

3

3

10

https://dl.doubtnut.com/l/_6LvcMVMqsSOR
https://dl.doubtnut.com/l/_NgGCbgpKXDO2


Watch Video Solution

2. Show that division of rational number is not

associative.

Watch Video Solution

3. Verify closure property and commutative

property for addition if 

Watch Video Solution

x = y =
2

9

1

3

https://dl.doubtnut.com/l/_NgGCbgpKXDO2
https://dl.doubtnut.com/l/_viz4H9HoTP4l
https://dl.doubtnut.com/l/_uBOwn3dsjp5V


Additional Questions For Practice Hots High

Order Thinking Skill

Sample Paper For Practice Correct The Following

Statements

1. Perimeter of square is 2 m more than  the

perimeter of rectangle . If perimeter of square

is 10 m . Find the dimension of the rectangle if

breadth is  the length .

Watch Video Solution

2

3

1

5

https://dl.doubtnut.com/l/_zO78GjbbTHLG
https://dl.doubtnut.com/l/_D6ihWdCUzSGF


1.  lies to the left of zero on the number

line

Watch Video Solution

∣
∣
∣

∣
∣
∣

−5

7

2. Additive inverse of  is 

Watch Video Solution

−5

−8

5

8

3. Find three rational number lying between 5

and -2 is

Watch Video Solution

https://dl.doubtnut.com/l/_D6ihWdCUzSGF
https://dl.doubtnut.com/l/_jSF4ontL3EGd
https://dl.doubtnut.com/l/_mUbdCq5tXiSv


Sample Paper For Practice Fill In The Blank

Spaces

4. The product of zero and any rational

number is 1.

Watch Video Solution

1. The rational number that is equal to its

negative.

https://dl.doubtnut.com/l/_mUbdCq5tXiSv
https://dl.doubtnut.com/l/_9lH1y4Ekyihm
https://dl.doubtnut.com/l/_dSd8PXI2UJbK


Watch Video Solution

2. Fill in the blanks : 

Product of rational number and its reciprocal

is …. .

Watch Video Solution

3. Rational number ______ is the additive

identity for rational numbers .

Watch Video Solution

https://dl.doubtnut.com/l/_dSd8PXI2UJbK
https://dl.doubtnut.com/l/_eKB4gwYZSGKI
https://dl.doubtnut.com/l/_gq2QuHfGfiZI


Sample Paper For Practice Answer The Multiple

Choice Questions

4. Multiplicative inverse of ______ does not exist

.

Watch Video Solution

1.  is a

A.  rational number

B.  rational number

−5

0

+ve

−ve

https://dl.doubtnut.com/l/_Yul9D93G5vg8
https://dl.doubtnut.com/l/_z8ubFMBtO1XL


C. neither  or nor  rational

number

D. 

Answer:

Watch Video Solution

+ve −ve

2. If -1 is obtained on doubling a rational

number then the rational number is

A. 
1

2

https://dl.doubtnut.com/l/_z8ubFMBtO1XL
https://dl.doubtnut.com/l/_oVM1vBVrpzok


B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

2

1

4

3. Addition is commutative for

A. Rational number

B. Integers

https://dl.doubtnut.com/l/_oVM1vBVrpzok
https://dl.doubtnut.com/l/_LtDJ00ki4tX7


C. both

D. 

Answer:

Watch Video Solution

4. The value of

 is

A. 

B. 1

{ − ( )} × { − ÷ ( − )}
2

5

−3

5

1

2

1

2

−1

https://dl.doubtnut.com/l/_LtDJ00ki4tX7
https://dl.doubtnut.com/l/_Lmqbvp94xuvP


Sample Paper For Practice Match The Following

C. 

D. 

Answer:

Watch Video Solution

1

10

1. (a) a+b=c  - Commutative property

for multiplication 

(b) a+(b+c) = (a+b) +c  - Distributive

            

            

https://dl.doubtnut.com/l/_Lmqbvp94xuvP
https://dl.doubtnut.com/l/_6SHba0FGMTmO


property of multiplication over addition 

( c)  -  Associative

property for addition 

(d)   -

Closure property for addition

Watch Video Solution

a × b = b × a             

a × (b + c) = a × b + a × c             

2. Write all rational number whose absolute

value is 

Watch Video Solution

3

7

https://dl.doubtnut.com/l/_6SHba0FGMTmO
https://dl.doubtnut.com/l/_puIXLYGpgWbn
https://dl.doubtnut.com/l/_7fB33uCbm6XY


3. Find if  is the multiplicative inverse of

0.03.

Watch Video Solution

33
1

3

4. Add  and its multiplicative inverse

Watch Video Solution

−
1

2

5. Multiply  and its additive inverse

Watch Video Solution

3

−7

https://dl.doubtnut.com/l/_7fB33uCbm6XY
https://dl.doubtnut.com/l/_wB8R00sH9cIy
https://dl.doubtnut.com/l/_X9MuVEFFn3Ac


6. Write 4 rational number smaller than -3 .

Watch Video Solution

7. Using mean method find a rational number

between  and 

Watch Video Solution

−
3

2

2

3

https://dl.doubtnut.com/l/_X9MuVEFFn3Ac
https://dl.doubtnut.com/l/_a26CYxrR5mX4
https://dl.doubtnut.com/l/_fucjed8GqpCm


8. Why 0 has no reciprocal ? Justify the

statement .

Watch Video Solution

9. Write rational number represented by the

points marked on the number line. 

Watch Video Solution

https://dl.doubtnut.com/l/_QjfsGDUEIKOQ
https://dl.doubtnut.com/l/_2H5inFS5UZM4


10. Show that subtraction of rational number

is not commutative.

Watch Video Solution

11. Verify associative property of multiplication

for 

Watch Video Solution

, ,
2

3

−1

6

4

3

https://dl.doubtnut.com/l/_ptf8ZI8Aais2
https://dl.doubtnut.com/l/_QhLmpybSRqga


12. Insert 6 rational numbers between x and |x|

when 

Watch Video Solution

x = −
2

3

https://dl.doubtnut.com/l/_kYDun64ryA7n

